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Of YTt XXl(seed)= &
z<-rnorm(n 0,1): 00007l2] CiIO|E{ & M/d
par(mfrow=c(1,2)) : J12{= Oj7iH 4 '|| mfrow c(1,2)= 18 S otLte| &, 2712 g= HiE
par(new=T) : new=T= S|AE ¢
plot(density(z), .....) : plot2 R ZHH| & 12 den5|ty(z)t OOl g zo| U

curve(dnorm(x,0,1), ....) : curvee & d2|=H dnorm(x,0,1)= EE™HF229|

SEUSHS

b3-ch3-7.R

set.seed(12345)

n<-=10000;
z<-rnorm(n,0,1)

par(mfrow=c(1,2))

hist(z, freq=F, col="grey", xlab="", xlim=c(-4, 4), breaks
=100)

par(new=T)

plot(density(z), axes=F, main="", xlim=c(-4, 4), lwd=2, c S e

ol="blue")

curve(dnorm(x,0,1),xlim=c(-4, 4), lwd=2)
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plot(density(chi5), .....) : plot2 R AH|E 12|&= &0|1, density(chi5)= H|IO|E chi52| HE
curve(dchisq(x,5,ncp=0), ....) : curve= &0 sl Fot= |4 S 2| =0l dchisq(x,5, ncp=0)= Xt E
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b3-ch3-8.R

set.seed(12345)

n<=10000;

Histogram of chif
par(mfrow=c(1,2))

z1<-rnorm(n,0,1

z2<-rnorm(n,0,1

z4<-rnorm(n,0,1

( )
( )
z3<-rnorm(n,0,1)
( )
( )

z5<-rnorm(n,0,1

chib<-z172+z2"2+23"2+z4"2+z5"2

hist(chi5, freq=F, col="grey", xlab="", xlim=c(0, 25), bre
aks=100)

par(new=T)

plot(density(chi5), axes=F, main="", xlim=c(0, 25), Iwd=
2, col="blue")

curve(dchisa(x, 5, ncp=0), col="black", xlim=c(0, 25), yli
m=c(0, 0.15), xlab="chisq", ylab="f(chisq)")




